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ST-2
3)
SECTION -} Y
‘ |y~
CHILD DEVELOPM ENT AND PEDAGO
wT et v gy COCY
There arc 30 questions in all in this section
All questions are compulsory. |
WEATE T 30 g9 § |
| o ot v afErd §
l, (\Kl)“d;’ ?t ;Ihc tbl]gwing is not a characteristic of Dyslexia ?
B) o :na?rwf “‘nh reading accuracy, speed and comprehension
Y as to nght or left handedness
() Slvmf- rate of writing
(D) leﬂqut}' n leaming and remembering printed words
RO EEs (Dyslexia) # favwar w8t &2
(A) a3 g, fa aa dy =5 LS 1
(B) WM 21 3 ¥m ¥ waim % wiay & fvag
(C) o =i it nfy
(D) B9 g0 vl & Wrad 3w a a3 ) wha
2. Powerful motivation Is effective factor of leaming,

:?; E hild hecunlulcs healthy (B) Does meditation
earns rapidly D) Feels happy
mmaiﬁiﬁm%\'aﬁmmmr—ﬁm%|( | o
(A) 3HR aoH @R Gl E (B) R @A |
(C) viwHiEard | (D) WE=SI A |
3.  Craft education be given to
(A) Retarded child (B) Backward child
(C) Common child (D) Gifted child
gLafyreT ®i fym <1 w1 afee _
(A) T=EE aeF Hit (B) fosg e H
(C) WM a1 & (D) W& g T/
4, How will you eradicate stealing habit of the students ?
’ (A) Giving rewards (B)  Through example
(C) Scolding \ (D) Punishment
B O I H B AT B HA T R A FFA R 2
(A) arerEl @ oAl o (B) T &
(C) dTe IR (D) ¥

identificati > gifted children we must give prionty to
> (IE\ ;he%iznll"lz:;i:tt]sqrirgir; :::'nb (B) The result of _cb.!ccu.ve tests
(C) The teachers’ opinion (D) _The community's view point
gRnyaE TeE 3 waE 0 & el el i Tee + ot & T
(A) afimiae) & o & 31 e | (B) a&;ﬁﬁ;ﬂwﬁmﬂwml
(C) fime & forotg &t 37 =feT | (D) WEHE

. 1 (i 7
Which is the indirect method of Tension reduction ing the Barrier

, B) Remowi
-~ (A) Analysis and Decision ED; Seplimation

itution of other goals .
g:"-ll ﬁsgzrsﬂg:g% :s’t];;bmﬁ T WA AR 7 -
(A) Favehen ik fola (B) T H T
(C). @t vl 1 Wi (D) T P.T.O.
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- When a test measures

T
?
i

@ ST
Right of Children to Free and Compulsory Education Act, 2009 was applied in country
(A) 1™ April, 2009 (B) 1% April, 2010
<) 1 Novem_ber, 2009 (D) 1® November, 2010
Wwwwaﬁaﬁﬁmmaﬁmzm%ﬂﬁmﬂ -
(A} 1 3«1, 2000 (B) - 1 ariw, 2010
(€)1 7w, 2000 (D) 1 7=, 2010

In NCF 2005 the objective of including Art Education in school is
{A) To dppreciate cultural heritage,

(B)  To develop students, personality and mental health.

(C) Onlgr (A) is correct.

(D) Bot (A) and (B) correct.

NCquusﬁmﬁmna?%amﬁa?ﬁm:«m%

(D). = (A) 3tk (B) wét £ |
an individual’s ability consistently accurately, then that test is

known as

(A)  Validity (B) Reliability

(C)  Objectivity (D) None of the above
aaamaﬁmmmﬁgémm%nﬁqwmﬁmﬁﬁm%_ﬁamuﬂmaﬁ wHAE)
(A) v (B) favargaen

(C) axtfyem (D) 3Ivgwa § @ F§ 7

In __the role of measurement is to provide an overview or achievement across a
number of skills.

(A)  Formative evaluation
(C)  Diagnostic evaluation (D) None of the above Y

L ﬁmﬁqﬁmmnﬁ?wﬁﬁmm@mmﬁgl - )g
(A) i qogtes (B) drmeTes geaia 'y
()  Frermras geaiea (D) Iugw o ¥ 3 3

Research concemed with social problems carried on by the schoo] personnel to improve

{B) Summative evaluation

school practices is |
(A) Fundamental Research (B) Action Research
(D)} None of the above

)y Social Rescarch
%;&dm%;mmﬁamﬁuﬁﬁm%mﬁmmﬁmh%mhﬂmﬁﬁm
ATl & QYR & arferd fawar aen &, HEAT § |

(A) Hifels SFTEHA (B) famrma; CEGIE|
“}, grfas AEUH (D) IWT o § =¥ T
hievement tests can be given in |
At]hwt.::o ways (B) fourways  (C) six ways (D) three ways
- S

qII0T
ﬁm# (B) WRWFRA (C) S WREY (D) dA R A
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13.

4.

16.

17,

(5) Y
By motor development we mean the development of in the use of arms and legs.
(A) Mind and Spirnit (B) Learning and Education
(C) Training and Learning (D) Strength and Speed
e fersre @ e Aead St & e @ T 4 ¥ 3fra sgam
(A) wferss il anem (B) tftm i fren
(C) wiimor 3l afipms (D) i 3k nfa

“The (wentieth century has come to be designated as the century of the child.™ This
definition is given by

(A) Murray (B) Adler

(C)  Crow and Crow (D) J.B. Watson
valterel et ) e ) v A § AR W Ay 7
(A) gt (B) ST

(C) wHaw (D) R FEEA

This stage is also called a period of Pseudo Maturity.

(A) Infancy (B) Childhood
(C)  Adolescence (D) Maturity

T g Ft e gged (Pseudo Maturity) &1 T5G Wt &1 @& | -
(A) Vorarae (B) areamawn

(C) Tevirereren (D) Wigrawn

The origin of human life can be traced to

(A) Two cells (B) A single cell
(C) Many cells (D} No cell at all
T7 19 F HR geret: afea &

(A) TN (B) %aw U By
(€) & (D) K B 7

Characteristic is not of infancy.

(A) Rapidity in Physical development (B) Dependency on others

(C) Full of morality (D) Rapidity in mental activities
e @ faowar

(A) wrifes famre ) digar (B) Tl W ke

(€ e 1 e (D) s feera 4 e

P.T.O.
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19.

20.

2.

22.

23,

ST-2

%)
What is thinking ?
(A) Use of Symbols (B) Use of Language
(Cy Perceptual Process (D) Concept Learning
feem s &0
(A) et T wai (B) ST & W4T
(C)- wreafrss e (D) e 3t
For which category of subjects are the detour problems used ?
(A) Children (B) Adults (C) Birds (D) Animals
HWTE TY FHE I e S & wale & fere far st & 7
(A) == (B) W% () fafgdr (D) I

The name of the theory advocating sudden solution to the problem is

(A) Operant learning (B) Theory of insight

(C) Trial and Error theory (D) Conditioning

VO & HAHS THVE &) G0 FC G Fogrd &1 a9 8

(A) Hisharera s (B 3 # fagra

(C) weaw td o & fagra (D) &

“Sensation is a gateway of knowledge.” This statement is

(A) Mental Development (B) Physical Development
(C) Attention Development (D) Language Development
“HATAT A H GFell Wigh § 1 qE B

(A) wrtae fawrmg & | (B) wmifw faama ¥ 1

(C) TR = fawme | (D) v & fawm &

Which of the following is the correct levels of leaming ?

(A) Facts. Knowledge-how, Information, Comprehension, Wisdom.
(B) Facts. Information, Comprehension, Knowledge-how, Wisdom,
(C) Facts, Information, Knowledge-how, Comprehension, Wisdom,
(D) Facts, Comprehension, [nformation, Knowledge-how, Wisdom.

Frdd e dlEl Fa@ w e ?

(A) T, T 9IS &, G, i, FaT
(B) e, A, 9, T 9 F, T
{C),am‘w,ﬂﬂmm,a}ﬂ.m

Change in behaviour due to maturation etc. is also called learning.

(A) No (B) Yes (C) Undecided (D) Sometimes
e 3T @ STaRR H I aftEe i AR R A &

(A) T (B) @ (C) ¥Hwm (D) ®hwd
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24,

29.

(N
What is the number of personality traits analysed by Cattell ?
(A) 13 (B) 15 (C) 16 (D) 14
Feet g1 favelfea fd ma safera vierpoit =6t e feat & 2
(A) 13 (B) 15 (C). 16 (D) 14

Murray created the history by constructing a test, what is that ?
(A) Ink Blot Test (B) Sentence Completion Test

(C)_ Thematic Apperception Test (D) Rating Scalg”
Qi 3 U Tihgor 31 1 o sfaere 19 R, sg w0

(A) ERT yaar qiiegor (B) @ gfer degor

(C) . Tawg sneman ademor (D) Wi Ao

The Practical Intelligence is called

(A)  Concrete intelligence (B) Abstract intelligence
(C)  Cognitive ability (D) Social intelligence
eI i i w1 A &

(A qdafed (B) ¥qd gfe

(C) warens draa (D) st qhe

The number of factors of intelligence according to tridimensional theory is
(A) 90 (B) L0 () 135 (D) 120
qfg * B fagr & s gfe % Rl $t g@n ¥

(A) 90 (B) 110 () 135 AD) 120
The object in the environment which an organism tries to attain is called
{A) Reinforcement (B) Motive

(C)  Stimulus (D) Incentive

ufrae &t a%q fag gl wra #33 &1 warg &3 & S A §

(A) 9deid (B) W&
(C) F® _ (D) WA

In Individual difference we find
(A} Vanability
(C) Both (A) and (B)

(B) Normality
(D) None of the above

T 9T 4 g9 U ¢
(A) faaerreitean (B) uf‘anmm_
(C) ~ & (A) R (B) (D) 3WF o A & 7§

Meredith’s study has shown that children of those families are in general

at a higher social level.
(A) less healthy and developed
(C) more healthy but less developed

(B) more healthy and developed
(D) not healthy but developed

& AT & HYR W HEl AL T ¢ b TE T/ 39 qiart & aew

St RS AR E )
(A) =9 @™ wE fasfag AB) T @ we fawfaa

(€) =fvs @ vd wn fasfa (D) @w T W fawfaa
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32.

3.,

36.

37.

38,

(8)
@vus - li
TN - |

mEvEd FA 30T |

ot v wfradd & |
e AT 1 3 A 5 R R S S e
(A) 3Ry e (B) IO AT
(C) wryfes ara (D) IEHYEF T
TR A &4 YE A1 MY ?
(A) el werd (B) ol el &
(€) B FTH (D) ZWHFA
gzt Dfen” fraat T € 7
(A) BE< (B) ferg
(C) A (D) Ff=x
Yeat &) Gt B S 9 4 A [ HF T &7
(A) UTHGHA (B) Temarem
(C) u-FFidt (D) 3% FIE B
Farart® Fa Ak T & 7
(A) (B) #=
(C) THE-HH (D) HIE R
maﬁa%hﬁwmmwﬁnﬁaﬁmqﬁmﬁmwm
(A) 8y gl
(B) forvagra wireo
(C) aTEE T
(D) g e

mwmﬁmmmmmﬂ
(A) Frotg et areia @1 G F § WErAA WA B |
(B) At @t g frffe & |

(C) oral 3 SieTRdl 1 Fafier &7
(D) I I
ﬁ.ﬁ.ﬁ.mﬁmﬂgfmﬁuﬁmaﬁmﬁwﬁmﬁwaﬁrmaﬁm?_L_,
(A) 91-100 (B) 81-90

(C) 90-100 (D) 71-80
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39,./":::11111?!343? forequr &1 V9 € "

(A) @ @ Ffedt H T T |
(B) faug & wig ofa 3= FE |
() ol 0 feggr T H |
(D) ®Tal @ Wi i 71 W HET |
@ tugd (cBsk) A feg ad ot 8 aré i R Had U6 W i JTell A A AT L
(B) ¥ 2009-10
(D) ad 2008

40,
(A) @H 2010-11
(C) a4 2009

ﬁmhf@ﬂﬂﬁiw&?mwwwﬂdmﬂﬁﬁﬁé?maﬁt{:

ﬂammﬁrﬁﬁr@?aﬁﬁ%maﬁg’nmmﬁm
wy@nfas AT A & E w2 3 ga@l 38 Teias
afgu Emfﬁqmnﬁﬂ%ﬁz.ma.yﬁmfawmmmﬁfﬁﬁanmﬁ

&7 7a d% e F 9 ¥,
o @ T FH B SR F
3 Fa fean st e | @1 6

mwﬁmﬁ.mﬁmﬁmf@aﬁm&fmmmw#ﬂmﬁWﬂmwmﬁa
Tﬂlmmﬂfﬁmﬂﬂﬁénﬁﬂmnﬂm.mﬁqmlﬁﬁmmﬁmm
éﬁﬁ:{qwﬁaw&'w|a'tata:—'ﬁfa:fmé£|ﬁ1‘4fﬂhﬁwméﬁmmfwfamquﬁm:
ﬁfﬁéﬁfﬁﬁgﬁﬁ%ﬁmﬁeﬁrqmmﬁﬁﬁzmmmmﬁmmmqﬁmim”rmm
ﬁﬁmiﬁﬁmﬁfmmﬁﬁnm%1sﬁﬁanmﬁ1ﬁ1m7imahﬁamanﬁiaqw%mﬁaﬁrfﬁfm
uﬁmlémgﬂlﬁ%ﬁm$ﬁﬂv¢$mﬂﬂ|
41. Frfiﬁmdmm&iﬁmﬂif%ﬂd%?
(A) vt 4 3 e gud [ |
{B) gﬂwﬁmwnqmmu
() 395 AR HfEa & A
(D) & s fadia g
42, ﬁﬁﬂrmﬁﬁﬁﬁwmm?'.'
(A) (B) FEF
) fae® (D) HIfeH
43, Fﬁ#ﬂﬂmmﬁﬁ:mmqﬁ?? '
7 (A) WER (B) 3ad
(C) @IEr (D) qmfaa
fal 'mﬂlfﬁfmﬂ‘sﬁﬁﬂi‘?-f .
Ty whsREE (B) maﬁw
i (D) Fuw 3 HY
P.T.O.

() TyET 3T T4g
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(10)
4s. !aﬂﬁﬁm’ﬂﬂrhﬂwwmqﬁgm%o i
(A) @Gl @b & (B) anfaes forsmat
(C) ez =t wraen (D) T WM

&!ﬂfﬂﬁgﬂmﬁwmﬁ.dbﬁﬁﬁﬁi\ﬁmmi

ST-2 Y

meﬁmﬁ#ﬂéﬁWWWhW@ﬁﬁ?%“ﬁwmﬁmﬁﬁﬁ |

@ et e ¥ w5 | o qww § ot o v e e fafy a9 A W S| A€ ASR
1 & V5 W g .0 A avgen 3K fe R | i € K R TgHT o A | AH TAH
W T U de 3 R <l ¥ dra o S | o o g d QA 1@ e | @ A 3 I8
T 3T S G | IHE T e @ IR T 3R S 1 B A R | S 3ud a7 ot IEE AR

3T R B Y
46, FHIAFA T I AT FF L2 -
(A) fefg (B) e
(C) waF (D) wu4
47. TH 4 A W V= FH WHT & 99 GGEHF 611 W & dggad o €9 a5eTdl & 7

50.

51.

(A) TTH (B) T®
(C) FEw (D) =&

A RE R A a G e i g T wam Eu w0

(A) WA ¥ « (B)  REETHE 9

(C) 31gEl ad (D) U= @

g9 § a VI 9dizd (s ga wwan fom feat o aftfeafa F 38 qemq |

(A) HTord AB) T

() &= (D) fafu

39 | Qfeet W ST |

(A) FHIE (B)  siwem

(C) F9H (D) &=

« ST e HTEHE & (° - UF 9 fe iR g e

(A)* TS (B) Weear®

(C) hm(ﬁ-g—,m)mﬂ'ﬂ? (D) Hhdaras
ﬁqﬁmﬁm@mmW%l - 30 T | Ry # faww d

(c)/ T 0) T

https://www.pyqgonline.com


https://www.pyqonline.com/

ST-2
53.

55.

57.

58.

-59.

60.

an
M F IR W IR A FT AR T I L0

(A) Faamavs (B) fourd=

(€) s (D) WS

qraE) st & fere uged qeEU 0

(A) sfomdas (B) @7l M
(C) Fatam (D) W & A

i o R
(A) TR 1 @ G A GUER HE E
(B) woTa W @ A MEEEar A € |

(C) W™ A A 549 M3AF &l €

(D) Tebar § wfew @it ¥ 1

e o fae & R €
(A) 3 (By Th
(C) €« (D) 9
et dia 1 @nfas iy T R
(A) TN, G, e, At
(B) aran, fevan, g, T
(C) T, aeT, 9gAl, e
(D) I Al
wrer fereror & fagr= €
(A) s & fegr
(B) Fwan gm1 W a1 fagra
(C) e & A & fagr
(D) I ol
mm(ﬂ?ﬁ)ﬁﬁlﬂmmm%h”
(A) Y€ IR & wnad 8
(B) oy & At & @&t A HTH
(C) ¥/ TaAT &l T FH
__AD) & @il WER |
N F[A T E
(A) () @
€ 7. (D) 9|
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34.

36.

(12)
SECTION -1l
LANGUAGE-I

ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.

The best sequence for learning English language is
(A) Listening. Speaking, Reading, Writing.

(B) Speaking, Listening, Reading, Writing.

(C)  Listening, Speaking, Writing. Reading.

(D) None of these.

A language has to be
(A)  Phonetically correct (B)  Grammatically correct

(C)  Alphabetically correct (D) Systematically correct

Flash cards are usetul type of

(A}  Audio-visual aids (B} Audio ards

(C)y  Visual aids {D) None of these

A good text-book of English should possess

(A) Recading material (B)  Pictures and illustrations

(C)  Cuhral content (D) All of the above

Itis of great utility in teaching English pronunciation, accent and intonatio
(A)  Epidiascope (B)  Films "
() Linguaphone (D) Radio

Latest scheme of evaluation outlined by the CBSE namely
(A} Comprehensive and Continuous Evaluation

(B)  Continuous and Comprehensive Evaluation

(C)  Continuous and Communicative Evaluation

(D) None of these

To cover all course in minimum time, which type of question should be asked ?

(A) Short answer (B) Objective type

(C)y Essay type (D) Al of the above

Unit test 1s an expression of

(A) Effective Evaluation (B}  Formative Evaluation
(C) Summative Evaluation (D)  Nomative Evaluation

https://www.pyqgoniline.com
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39.

40.

41.

42.

43.

45.

(a3
Pronunciation of students can be tested through Y
type questions.
(A) Essay (B) Objective o
(C) Short answer (D) All of the above

Oral test and Examinations are intended to test
(A) Reading (B) Comprehension
(C) Expression (D) All of the above

Read the passage carefully and answer the questions that follow :

Prosec Passage-1 (Q. Nos. 41 to 45).

People in the villages of Rajasthan lead 8 very st
The walls of these huts ar¢ covered

changed over the years. They hive in circular huts.

with cow-dung. Every hut has a small place for worship. The life of these people is full of

difficulties. It is very hot in summers and cold in winters. Water is a major problem.

ave to walk a long distance o get drinking water. For their agniculture
brave. They have leamt to face difficulties
their life. Women like to wear dresses
¢ a rich traditon of music

mple hife. Their way of living has not

Sometimes they b

they depend on rain. But these people are very
ke 1o enjoy
llages 10 Rajasthan hav

ery proud of their culture.

and they never lose hope. They also h
full of bright colours. people living in Vi
and dance. The people of Rajasthan are v

ym for ‘brave’

Which of the following words 1s a Synon

(A) Hardworking (B) Prosperous
(C) Valhant (D) Enthusiastic
The antonym of “hright is

(A) Colourful (B) Duli

(C) Transparent (D) Dark
which of the following words is correctly spelt L
(A) immediate (B) imimediate

(D) Imediate

() immedieta

“Thei - can be replaced Wit the word
Their Way of living (B) liveliness

(A) jivelihood '
(C) nifelike (D) lifestyle

Find the correct on¢ word for the phras¢ given belo

‘Counu'yside of a nation’ , o

© R :Jl;ababitants R
© p.T.
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47.

48.

49.

(14) ST |
. | 2
cad the passage and answer the questions that follow :

Prose Passage - I] (Q. Nos. 46 to 50).

have :::S: ;h:ll"c:r: ns:rt 'watc:inght.elevision long before they enter school. Many doctors
The doctors are of [heus:f)n that children up to the age nfn:vg years should not watch TV.

lew that the first two years of life are very important for the
development of 2 child’s brain. Spending time with parents and others encourages
leaming and healthy physical and social development. As children get older, TV can be
watched to a limited extent. Children prepanng to enter schoo) can learn the alphabet and
numbers from educational programmes. They can also leam about wildlife on nature

shows. TV can be an excellent educator as well as entertainer for children.

Bath the words *Children’ and *Entertainer” are

{A) nouns (B) pronouns

(C) wverbs (D) adverbs

The verb in the clause “they enter schoaol™ 15 1n

(A) simple past tense (B) simple present tense

(C) present perfect tense (D) present continuous tense

Which of the following has the three degrees of the adjective in their correct form ?

(A) Poor, more poor, poorest

(B) Important. most important, importantest

(C) Old, older, oldes

(D)  Thin, thinner, more thinner

In the phrase ‘a good thing” the determiner used is

(A) good (B) thing
Conjunctions in the passage are
(B) about, and

that. and
() (D) about, also

(C) that. also

https://www.pygonline.com



https://www.pyqonline.com/

ST-2
51.

e ]

53.

34.

- 56.

57.

58.

_— -

59.

(15)
Which of the following sentences has the correct struct
(A) How long will you take to finish your work ? eHire
(B) How did long you will take to finish your W(-)rk ?
(C) How long you take to finish your work ? .
(D) How long you will take to finish your work ?

of question ?

The passive voice form of the sentence — ‘She will write a letter.” will be
(A) A letter will written by her. |

(B) A letter will be written by her.

(C) Written a letter will be by her.

(D) Will a letter be written by her ?

The passive form of the sentence — *Who will help you 7" will be
(A) By whom will you be helped ?

(B) Whom will you be helped ?

(C)  You will be helped.

(D)  Whom will be you are helped ?

Consonants sounds are
(A) 26
(Cy 27

(B)
(D)

24
28

Phonetic symbols are
(A) 44
(C) 48

(B)
(D)

40
22

Which one of the following is not included under the principles of English teaching ?
(A) Pnnciple of Natural Process

(B) Principle of purpose

(C) Pnnciple of uprooting from culture

(D) Pnnciple of selection

The criteria to choose a particular course for particular class is called

(A) The Principle of Selection (B) The Principle of Gradation
(D) The Principle of Motivation

(C) The Principle of Proper order

The unit of teaching in Direct method is

(A) Word (B)
(C) Phrase (D)
Alphabetic method is also known as

(A) Word method : i(:g;

(C) Spelling method

In which method teacher states rules and
(A) Inductive method

(C) Translation methed (D)

Sentence
None of these

Syllabic method
Phrase method

ives examples ?
(gB) Deductive method
None of these

P.T.O.
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32.

33.

34,
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36.

37.

38.
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(16)
|aug -1
e - |
HRp,
a1 Frerg v &=
W& TeEr e |
mﬁaﬁmmq
(A) =& (B) wryoTy
©) e (D) w@ag
AR T FA e
(A) ¥z (B) q&TH
(©) TegEy (D) g
RISICCat Cror g
(A) Y& IR (B)  sasmumy
(C) wifeafraromdy (D) W¥F §w

(B) Fas qygiyestonty
(€)  Teraior (D) Z¥3-g
IaRiemoRy fava: g -
(A) qaiafy: (B) fmdtfafy
(C) e & atviaiy: (D) Hat
TN TORITAERTa SO, Jfe -
(A) TR (B) Mm%
(C) fay (D) ATHrerETR
Tapater e fgdra: 98 add
(A) @ISHE: (B) Tveray:
(C) vIRT=Y: (D) =
TEHaNTaRIT W: | -
(A) 9" (B) WAYHE
(C) HAI3=® (D) AHFEA
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(A) FreemT (B) iriorahmdy
p— (C) feamdn (D) TNy
40. ‘v e @ waifeen 2
(A) TSI=YER HeigaA (B) U, M @ ERT
(C) 3t gitfvgm o=t g (D) WETEIYTEIRAT

sniiiae arfeet e sty R S (41 - 45) T -

HAUTHIR: ﬁm:mmlmmﬁaﬂmmmmm};éﬁﬂﬁmm
Wﬁmﬁﬂﬂﬁqm-wgm?ﬂdﬂﬁiaﬁ{m; | HEUIFHN: AFHR G,
SR 1 7 Pt armemy sTorerTe | srorR: v gl R SRV oY W A

Y AT e |

41. ‘AR S anrfany: afe
(A) e < foen g (B) wrg: foew:
(C) = faat (D) = faest

42. ‘Y@ 79T % WG9 TG

(A) = (B) wWHY

(C) ¥aq (D) &=
43, ‘delaEd s @ favfe: 0

(A) w& (B)

(C) v (D) e
44, “HUEA T TR e -

(C) qg&dR (D) wgwRR
48. ~aam§qmm$rﬂqﬂ;mﬁafmfaﬂmfaﬁa_

(A) HEUHAR: (B) ™

(C) Imsmart (D) e
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(A) e gy frafa o
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(B)
(D)

(B)

et — TR
! - THaEY

ER

R4 UMWY, T
™ o9 T g

LIS ?‘Tlﬁ'ﬁﬁﬁfl

(D) sem g fosfr |

https://www.pyqgonline.com



https://www.pyqonline.com/

54,

56.

57.

S8.

59.

(19)
tafesd waq sfvmar weafmior sl -
SHL, Ff: Jd=
(A) & (B) fa&m
(C) FHam (D) =
'Hﬁ?ﬁﬁ’ﬁﬁﬂ ...... |
(A) wi (B) @4
(€©) (D) 4
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T H1. Jf< 2
(A) ¥z (B) atfaefa
(C) wefo () fosaTEETon
(A) T (B) ggafy
(C)  JuTeHmy: (D) gy wfy.
(A) WRATEEA: (B) ¥@reawom
(C) SRR T (D) waifor
Wmummﬁwa’fﬂ:aﬁﬁ—
(A) WUSREITGI: (B)  RIEATEH:
(C) UTRayETHTEI: (D) wemyoTTEfa:
n‘fﬁamﬁm:mﬂﬁwh:
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SECTION - 111
LANGUAGE-II
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.
61~ Diphthongs are \_~

(A) pure vowel sounds (B) pure consonant sounds

(C) semi vowel sounds AD) combination of two pure vowels
62, Which of the following does not have /i+/ sound 2 -
< (A) Week

-{B) Bean

(C) Deep (D) Pretty

63. - Pick-out the incorrect transcription.
(A) pool /pu:l/ (B)

fool /fu:l/
(C) tool /tu:l/

_AD)  foot /fu:v

64. How many fricative sounds are there in English 2

(A) 8 (B)y. 7
) 9. (D) o
6;_,/ The correct transcription of *thick® is
C (&) eIk (B)  /Bick/
(C) /6dk/ (D)  /8>:k/

66.  Which of the followin
. (A) Itis universal.
(B) Itis natural.
AC) 1t does not require formal instruction.
(D} It requires formal instruction.

£ is not true of first language acquisition ? .~

o

67;’ “Evaluation does not ascertain s
(A) the educational standard of the institution.

AB) the administrative standard of the institution.
(C) the teaching standard of the institution,
(D) the efficiency of the teachers of the institution.

68. Which of the following is not part of the traditional class-room ? L//
¢ (A) Text-book (B) Chalk

(CY Computer Network (D) Blackboard

6!}/ "To motivate and create interest among children Harold Paimer does not suggest -
(A) Competition AB) Game like exercises
(C) Repetition (D)  Minimum of Confusion

https.//www.pyqoniine.com
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72.

73.

4.

715,

Error correction does not require

(A) to attend to errors in a sensitive way.

(B) to embarrass the leamer though correction.

(C) to develop a task wherein students can use language frame.
(P) to provide good model of an expanded grammatical utterance.

" Which of the following skills will not be strengthened by using text-book as material for
teaching ? -~
(A) Effective writing (B) Comprehension skill
(C) Grammar skill (D) Communication skill

One should not learn English because
(A) Itis the language of knowledge.
(B) Itis window to the world.
(C) 1ltis the language of British rulers.
“ (D) Itis the language of liberal, modern thinking.

The students leam patterns of language by repeating model sentences that teacher
provides. They memorize set phrases and receive positive reinforcement from their
teacher when they perform drills. This method is https://www.pygonline.com

(A) audio-lingual method (B) communicative approach
(C) total physical response (D) the silent way

The students take all subjects in English medium. They take part in class and school
activities with students of their age who speak English. This approach is
_A{A) task based leaming - (B) grammar learming
(C) immersion (D) translation method
Natural approach of learning language was developed by
(A) Krashen and Terell (B) Chomsky .
(C) Berlitz (D) Henn Goiuns

Unseen Passage : (Q. Nos. 76 to 80).

First of all. | need work, and a decent wage for my work. Aristotle defined happiness,
not as a sum of pleasures, but as unimpeded activity. I want work which is hard but
interesting. | am exceptionally lucky because I can choose my own work to a large extent.
If I want respite from science | can go and be a war correspondent, or write children’s

stories, or make political speeches.

1 require friendship. Particularly | require friendship of my colleagues and comrades

]n . . . s . *
scientific and political work. I want the society of equals who will criticize me, and
whom [ can criticize,
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79, Conjunction in sentence 3 is =
(A) want (B) hard
(C) but (D) interesting
77/According to Aristotle, happiness is
¢ (A) asum of pleasures (B) unimpeded activity
AC)  impeded activity (D) hard work
/
78.  The author requires tricndship of
(A) political leaders (B) 1eachers
’ (C) fellow workers (D)  young children
79.  How many connectors are there in sentence S
“If 1 want respite ... political speeches.”
A) 2 (B) 3
() 4 (D) 5§
80. Why does the narrator want work ?

(A) To get decent wages (B)  To make friends

(C) To get happiness (D) To write children's stories

Read the Poem carefully and answer the following questions : (Q. Nos. 81 to 85).
When to the sessions of sweet silent thought,
| summon up remembrance of things past,,
I sigh the lack of many a thing | sought, .
And with old woes new wail my dear time's waste;,

Then [ can drown an €ye, unused to flow,

For precious friends bid in the death's dateless night,”
And weep afresh love’s Jong-since-cancelled woe,

And moon the expense of many a vanished sight.
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81. ‘sessions of sweet silent thought® is an example of

(C) imagery (D) simile
(32. The rhyme scheme in the poem is
(A) abba ~ (B) abab
(C) baab (D) bacd
83. Which of the following words taken from the poem is an example of personification ?
(A) eye (B) time
() love's (D) moon

84. Pick out the correct example of metaphor.

(A) eyes hke two lamps (B) the ship of life moves on
(C) rosy lips and cheeks (D) as whitc as snow

85, What is hidden in *death’s dateless night’ ?
(A) beloved (B)

poet
(C) friend (D) eye
86, Fill in the blank with an appropriate ‘modal” :
£ « a
Heis ill. He see a doctor.
(A) can (B) would
(C) could (D) must
87.  Fill in the blank with the appropriate preposition.
ol He is angry me. Y
AA) on (B) upon
(C) with —~ (D) at
88, Elegyisa ,ré/,:/
<" (A) praise of a political leader. ¢B) lamenting the death of a dear one.

(C) evaluating the work of people. (D) eulogizing the birth of a child.

89._The subject matter of this sonnet is |

(A) biography of a person ~{B) courage
(C) love (D) revenge

3" Drama differs from poetry as ‘c//
(A) it has metaphor. AB)

it has action.
(C) it has rhyme scheme. (D)

it is always written in stanzas.
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(C) 327 (D) 264127
S W A
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(C) 3¥aEv #iy: (D) e i
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(A) W maR (B) w1 mTeafa
(C) o e (D) way mapy

TR L Faf= " Feerear qefaes e Pty
(A) Frmm (B) srswm
(€) Wiy (D) s

"W AUgEH 3 vl | arfi weingg
(A) ¥ avgen e vafa |

(B) ¥ avget i+ qufy |
(C) W vgaH . vafit |

(D) §: Avgeq e yefyy

FenerorereX spererq et -
(A) Ty (B) Fry
(©) Wy (D) v
ARG T —
(A) == (B) ¥«
(C) RN (D) ==w:
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(A) YA (B)
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80. Al 5108 5151 Al 53wy -

(A} gl sy, s, ey (B) ded, daud, ad, 9l

(C) daum, deA, gq. 1 (D) e, g, daum, ad

A wde i wed wssnis 81 o) 8s WAL WAl ey vy
WAL R w2t 6, d Aedd g 53 6. ol Ad sddal dl wd o geusd
wlzts 9. 512l & o et Al sl . W Adiazasd aea ol e gRarl, gisel

-l ool e w2 9 aed d-l wsuid g Ased qaYd o4 8.

81, IlEiaMiAl ‘Red APE SHL MSRALS 7

A) et (B) dg™a

o 2l (D) wsyet 4l
{C) LA

. 2 :
82 Al sl woel Auylal et ails Al 2]

: (B)
(A) Ml o 4
() «l
: aisedl Mo wd 9. i sul wot [advet adll Wd © 7
83, el woutw Y™ *IT
(B)y U™
(A you (D) u¥od
() sedl
g9l WSk

M. ey weel WS B) W+

(A) e+ (D) ¥+ P.T.0.

(€) ud +
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(64) ST-2
85. ‘didiqzer sy) yayy eald ¢ 2
(A)  degam 1y (B) sty ayy
(C) Hoquee] aayy (D) &5 WUy

TR e veiad s yamgugs 86 2l 90 it watlrt yeuoy 2] :
WD deusd el cal § wg o,
A1 vtz v 5i6 4 33,
WA NN A, AL wig vy 4,
s e dui A 33, s,
Ul wud w2 A allg wig AR,
dlg & © ua d o i,
sledl 2sh, Wi, sud sus,
M W el d o &3l b,
deal Sl Wl wirul Adl,
0 ey, edl § ol eyl !
agl e ol deli s sl
e 2 1 euedld Bl qal sy,

86. GULsd sluAl sz sul o 7
(A) A2 (B) G
(C) A4 (D) ey

87. HIZ s 4l 2RlE ¢ M D sul W el w1 2
(A) el (B)  aulqwa
(C)  AsEL{UA (D) widwy

88. dFl elbel ‘getsd el sl e ulony 8 2

(A) AN (B) M+

(C) A4 D) o

89. oulsd alz 4 vig 1l ? |

(A) dlg (B) Rusi

(C) Sust (D) "™

00. ~llal-iell sul w0t s@at wd Asaddl © ? |

| (A) dsal (B) Rl
(C) Susl (D) Gua-l st
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ST-2 (65) y
SECTION -1V /@Ug - 1V

In this Section, there are 2 sub-sections i.e. IV(a) Mathematics and Science and IV(b)
Social Studies. Both the sub-sections consist of 60 Multiple Choice Questions each.

The candidate has to choose either 1V(a) Mathematics and Science OR IV(b) Social
Studies as selected in the Online Application Form and answer all the 60 questions.

Wﬁﬂgﬁﬁmmﬁlwmﬂﬁmmﬁaﬁqﬁlwb)mﬁmm% | B IEUEt
* yde H 6() Fgfameda gv € |

et W(awfmmﬁammlwb)mﬁmm,hwwamﬁmm
3 i &, 9 R Pt e ST @1 g & T WAt 60 W F IR AATE

SECTION - IV(a) / @98 - 1V(a)
MATHEMATICS AND SCIENCE ; Tiforer war =

There are 60 questions in all in this section. The candidates who have selected this subject

must answer all the questions,

70 @vg § F 60 W § | Fom anafdt 3 g fawa o g e & 3wl wve e e €

91, ~Nature of mathematics 1s
o (A) It is logical.
(C)y 1lts ornamental.

(B) liis difficult.
(D) It is not for average students.

nfore @ WHA & - -
~A) UEAMEHE | (B) WHAY |
Y () T W € | (D) 47 e faefirat & fog = &

92. In which of the following practice teaching helps ?

(A) To increase learming transfer |
(B) To increase understanding solution c_af the problem
(C) To develop efficiency use of theoretical knowledge

(D) To work quickly of any problem
sngry foreoy fret A @ WA A T .

(A) s R A e

P.T.O.
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9

94.

9s.

96.

97.

(66)
Importance of Action Mathematics 1s

(A) Direct €Xperience
(B) Learning by self doing
(C) Tobe Permane

ntand clear of concepts
(D) Al of the aboy

¢
T ey
(A) vy H9g
AB) =4 T drgy
(O aTons e =t g
(D) Igem oy
Part of language of mathematics is
(A)  Sign (B)  Number-Number variables
ﬁa;{‘mm]“ ok (D) All of the above
M1 &1 3477

(A) ¥ (B) wemsmn
(€) ¥ (D) 3Ivgdw ot
In which subject importance of Mathematics Teaching is ?
(A)  Society (B) Science
(C) Principles and Logics (D) Al of the above
miurer Fereror &7 fort forag A mr 20
(A) ™ (B) faom
(C) fogra wd o D) 3ugw )
Suitable method of Arithmetics teaching is
(A) Project method (B) Demonstration method
(C) Analytic method (D) None of these
sieprfura femror = Swge fafw
(A) it fafl (B) W fof

T @ i
(C) Toverm fafy (D)

—

jecti ' her in class-room teaching ?
ich objectives achieves a teac ‘
:f)uc Cogjnitive (B) Affective
(C) Psychomotor (D) Allof ?the albove
B WAFAE?
snaraes - fror | few 3tvd
E: AATHS (B) wﬁ
(C) wAvETH (P) I9gF

- o ST
PR Tl SR
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ST-2 (67)
8. Importance of Diagnostic Test is
(A) 1 teaching
(B) in counselling and puidance
(€) in arrangement of remedial teaching
(D) All of the above

Frred v @ mrma b

(A) fomgor

(B) mm 3 o 5

AC)  Iarens faam @t g §
(D) 3w w3
99.  In Mathematics teaching, main role of Mathematics teacher i

(A) Philosopher (B} Friend

{C) Counscllor (D) All of the above
rifra fonegor o e #) g o
(A) wmifaE (B) fma
() (D) 3w

100, Suttable method of Mathematies teaching 1s
© (A} Lecturer method (B) Demonstration mecthod
(C)  Inductive-deductive method (1) All of the above

rforat oo 1 gy fabu 2

(A) e fafy (B) wew falu
“ () s Fam fafu (D) I
inl. If(\ﬁ)s X903y 3\(5. then the value of s
(A) 3 (8 2
() 5 (D) 6
Uﬁ'(ﬁ)sx‘ﬂ=3“x3\ﬁﬁ,ﬁ1;iﬂmﬂmﬁm?
(A) 3 By 2
() s D) 6

02, 2v+dy -8y~ 1 =7
(A) {49 (2v- )
(C) (1-4y) (2 +h
v+ dy Sy 4 =T
(A) (I +ayp(- 1)
(€) () -4v)(2v+D)

(Bi (1 -4vpi2v- 1)
(D) None of these

By (-4 2x-1)
(D) W & @ 3

https.//www.pygonline.com
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103.

1u4.

105.

106.

107.

108.

(68)

If3x + 7y = 75, Sx — Sy = 25, then the value of (x + y) =

(A) 17 (B) 16
(C) 18 (D) 15
atg 3x + Ty =75, Sx - Sy =25 7@ (x + y) & T T4 2
(Ay 17 (B) 16
(C) 18 (D) 15

What is the value ur\}nzs +4/484 ?

(A) 47 (B) 56
(€) 52 (D) 35

\[625 + \[484 &1 T T gm0

(A) 47 (B) 56

(Cy 52 (D) 35

Find value of 4/4/0.000729 + 3/0.008

(A) 0.1 (B) 0.5

(C)  0.06 (D) 0.8

\0.000729 + {/0.008 =1 7 g

(A) 0.1 (B) 05

(C) 0.06 (D) 0.8

At what simple rate of interest a sum 1s double in 8 years ?

(A) 11L0% (By 12.5%

(Cy 12% _ (D) 13.5%
R &7 1 e 57 | i 9 8 ad § g g S 2

(A) 11.0% (B) 12.5%

(C) 12% (D) 13.5%
If(a+by:(b+c):(c+a)=6:7:8anda+b+c= 14, then the value of ¢ =
(A) 6 (B)y 7

(C) 8 (D) 14
gfg(a+by:(b+c):(c+a)y=6:7:8d@at+tb+c=14ddc=
(A) © (B) 7

() 8 (D) 14

ST-2

Neena and Meena started a business with investment of ¥ 30,000 and 3 45,000

resp
(A) < 30,000 (B) 45,000
(Cy T 75.000 (D) None of these

ectively. What will be the share of Meena from the profit of ¥ 1,50,000 after 2 years ?

S st e 3 wEe: 30,000 @9 45,000 ¥ fEw ¥ @R oy e o2 @8 9w

% 1.50.000 % @ & & TAT 1 S0 HT &N 2

(A) ¥ 30,000 (B) 45,000
(C) T 75,000 (D) 4 & $ T8

https://www.pygonline.com
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Lo, - )
109. What is the value of 5 % in decimals ?

(A} 0.0005 (B) 0.005
(Cy 0.05 (D) 0.5
%ﬂfomwﬁqﬁmmiﬂm? ;

(A) 0.0005 | (B) 0.005
(C) 0.05 (D) 0.3

110. The multiplication of the age of Rajeev, before § years and after 9 years, is 15. What is the
present age of Rajeev 7 -

(A) 6 By 7
(C) 5 (D) 8
tﬁaﬁsa&q&mmaa&maﬂmwmts%wﬁﬁaa?faa‘ma:nqw%?
(A} 6 By 7
(ST (D) 8

[11. In the given figure AOB is a simple line and OC is incident on this. If a : b = 2 : 1, then
the valuc of a is

R
a
A AP B
(A) 80° (B) 100°
(Cy 1207 (D) 1407
fear 72 e & AOB wss w7t Tan @ form o7 fsror OC smafea & 1afga-b =21 81, @ awr o
1 & 7
¢
a
A Ah B
(A) 80° (B) 100°
(C) i20° (D) 1407

112, InaAABCif3 ZA =4 ZB =6 £C, then the value of ZA =

(A) 60° (B) 80°

(C) 30° (D) 407

Rl AABCH3 LA =4 ZB=6 ZC R A LA="""
(A) 60° (B) 80°
(C) 30° (D) 40°

P.T.O.
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113. In the given figure, O is the centre and ZACB = 40°, then ZAOB =

(A) 30° (B) 40°
(C) 60° AD) 80°
3 sl d g w2 0 awr ZAC =40° @ ZAOB =

(A) 30° (B)y 40°
€y o0° (D) 80°

ylf the radius of the circle is increased 3 times, then how many times th
€ new

circumference increase from its original size ?
(A) 3 (B) %

(D) None of these

(C) ©
@qﬂﬁﬁmsqﬁmwﬁwﬁﬁrmi&qﬁﬁzﬂﬁaﬁw#ﬂ?
(@A) 3 ®) 3

() 9 (D) % & = 5

H5. A room is 12 m long, 9 m wide and 8 m high. What is maximum length of a rod that can
be kept in the room ?

(A) 17m (B) l6m

(C) 15m (D) 14m '
Eﬁﬁ;ﬂzzrﬁ. o, 9 A dgl e 8 W, T ¥ | 3 sveaw Ty o w aW @ s v
AT 7 "
A) 173 (B) 16% ;
(C) 154 (D) 147

https://www.pygonline.com
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(7

City | Applicants in Lakh | Ratio of Pass and fail
A 1.25 7:3
B 314 5:3
C 1.08 4:5
D 227 [:3
E 1.85 3:2
F 2.73 7:5

AT | iAWl W WEAT | UTH d e E e &

(eI ¥) FaT
A 1.25 7:3
B 3.14 5:3
C 1.08 4:5
D 2.27 I:3
E 1.85 3:2
F 2.73 7:5

116. How many applicants pass in city £7

7.

(A) 13000 (B) 1110000
{(C) 113000 (D) 111000
7 E & udieg W Mg g e Iwigan] s e e g o
(A) 13000 (B) 1110000
(C) 113000 (D) 111000
Which city has highest number of fatlures in exam ?
(A) F By C

() B D)y D

i 3 S @ A o #) waiE e
(A) F (B) C

€) B (D) D

https://www.pygonline.com

Note : The students (in Lakh) who appeared and ratio of pass and fail in different cities
are given in the following table. Read carefully and answer following questions :

Fadar .« et omi o w4 At gndizand] #1 den (@ H) TR TE 3 e g
are! &1 3 e a1 wetiifa s v e e & av A

P.T.0.
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| (72)
llﬂJ. Histogram is useq lo represent
< (A) Non—cominuous grouped frequency distribution
(B) Ungrouped frequency distribution

(C)  Continuous grouped frequency distribution
(D) Allof these

3 ot v ey &

(A) S Tfieher ARaRET d25
(B)  storiiepa ariamay dox
() WA Friighe anE g

(D) 7 d ot

Note : Percentage of girls in different schools are plotted

carefully and answer following questions :

in following graph. Read

ﬁw;ﬁ&ﬁmﬁﬁﬁqﬁmﬁﬁﬁwﬁaﬁﬁmmmﬁmw% | QI / TgeR

et vt & 3w e
3000 4 3000
* 2500 [
60 1 2 E 2500 + 2250
E 50 = [_
50 < .IE 2000 2000
% N
%"‘ Fr 2
= 30T 30 : 13007 1250
= 275 P4 1000
5207 17.8 1000 + ”
| T
210+
N ‘ : + 5 j;_ U P Q R s T U
P Q R School (froers) ———»
sScheol / faurg — 00

119. Total number of boys in school T.

B) 600
(A) 500 :D)) 250
¢y 750 .
TEH B AL -
Faer T (B) 600
(A) 523 (D) 850
© 7 »
: IPand Q. &'
dents in both schoo
120. Average number of stu (B) 1575
4
(© 1 o QA T !
frerat (B) 1575
(A) 14;5) (D) 1625
© 14

https://www.pyqonline.com
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121

122,

123.

124.

125.

What happens when dry slaked )i
(A) Bleaching powder forms
(B) Baking soda forms

(C) Washing soda forms

(D) Plaster of Paris forms

N & T % 9 G0 A A 00 AR 3 e v o
(A) e v @ d | 81

(B) &fdn drzramany
(C) Mwamame
(D) ==y 3 ofrm

Who 1s Father of Biology /

(A) Lemark (B) Anstotle

(C) Theophrestus (D) Charls Darwin
wia fasm & TwE P £

(A) ik AB) IH

(C) fuamkew (D) = A
Which one of the following activity is action verhs ? <~
(A) Tosee (BY To underhine
(C) To hsten (DY Toknow

e 0 @ @ =t o i fean 2 0

(A) 2@ (B) taifed s
(C) ¥ (D) w1

“Science 18 an attempt to make the chaotic diversity of our sensc experiences correspond
to logically uniform system of thought.”

Above mentioned defimtion of Science 1s given by

(Ay W.C. Dampicr (B) Albert Einstein

(C) Pt )1 Nchru (D) J.B. Conant

x5 spfaal @1 osraena fahvea @ e e faawonedt e w9 & mw @
ferstt aet & 1

s %) JugaR afoaa &
(A) Teg Al 3 (B) ¢ awEA
(C) 1 ATA TFE (D) #d @A
hic y is Child centered 7
::\';ILhPE:;E:ﬂ‘!clhud (B) Prohlcr'm solving method
(C) Laboratory method (D) All of these
2 o aw A fafu €
(A) wreae fafu. {B) mwmﬂfafu
(C) e fafy (D) v & wdt

P.T.0.
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:C; EOhm Mill teaching objectives 2
S. B;;Tonm ;g; lrjljefb Groundland
(A) g3 fqmmm o ey, oo o Spencer
£C) duyg =m (B) Wi gdedvr
127. Fath (D) w= s
¢ Tather of Branch;
(A) BF. Skinnc?g programmed instruction
(C)  Thomas F. G; (B)  Norman A. ¢
. Gilbert D 1 A. Crowder
T;ﬁquﬁ FTVA & . f’/} Thorndike
(C)  omg us. frreas (B) Fnw #rgsy o
A (D) erizms
128. Which one of the §; L
(A) Bil}::tktgy;tdm”m e I co-cumicular activity in Science teaching ?
(C)  Text-Book {31 Science Fairs '
S aay’ (D) Audio-Visual A
?: B %4 4t forar s fomqor trga.nm(‘mg -‘,'399} Auds
(E,) AT (By fawmden
AL (D) =137 g
129, x‘;l’tﬂ;—)ﬂ:‘{[:‘lc ﬂ‘l“ﬂ““}g is an Audio Aids ? )
A B) Epidiascope
(C) Gramophone [D P ,-“.ismpt
Frey 5 4 @ o srer 2y (D) Magic Lantern
(A) sTad (B) Fea faramess a3
(C) UM™IR=a (D) oramEy
130. Main purpose of Evaluation is b
’ (A) to set question paper only
(B) to know leamer’s performance and bring improvement
(C) to maintain discipline
(D) to conduct examination only
T 6 R
(A) Had H¥A.9% dR @A L
(B) sftrroeal i Juelfe A O FUR T
(C)  3VEH &1 T |
(D) Fae T T |
. : iy 7 \/
131, Whosc last step is remedial teaching ° , .
“ (A) Inquiry model (B) Interpretive teaching
- (D) None of these

(C) Diagnostic teaching .
(A) g1 afemr (B) @A

(), Frearens fewgor | (D) v A

https://www.pygonline.com
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132.

<

133.

134.

136,

137.

‘ (75)
Which of the following body part of plant is haploid 7~
(A) Gamete (B) Flower
(C) Ovary (D) Anther
freifapar o @ Wi 7 1T W1 9T SwfoTa B & 0
A(A) U (B) ™
(C) HUSRIE (D) WY
Which of the following bacteria is beneficial for mankind ? ~
(A) Sireptococcus (B) Salmonella
(C) . Pcnicilliurp (D) Above all
Fnifere saopa & | e i & foe aneER o
(A) T (B) W
(€)  Teitfaferam D) I
Gastric juice contains A
(A) Pepsin, Lipase. Renin (B) Trypsin, Lipase, Renin
(C) Trypsin, Pepsin. Renin (D) Pepsin, Trypsin, Lipase
AR @UEAE
(A) e, e, (B) fefemm, et
(C) Tefm, dfe, (D) e, fofeer, T

_ Which of the following is a micronutrient for plants ?

(A) Sulphur (B) Manganest
(D) thphoms

. . 5.
Which cells synthesize and secrete testicular hormones (androgens) in man =~y

(A) Scrtoli cells (B) Mucgs cells
C) S ermdloi.nnl.i (D) Leydig geells
:{Iaqﬁapw qmﬂugrﬁ:q(q:{mmmmﬁwwaﬂwm??
(A) TR B (B) EHE HHT
(C) Tt (D) S BT -
The approximate temperature of the body of a healthy person is v
(A) 37°C B 37K
(C) 37F (D) 37R
Rt e W o YR | A &
(x) 37l (B) i; e |
(C) 37 FRAEE (D) 37T P10,

https://www.pygonline.com
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138. INis (76) !
e‘lual 1o how many ( STy o
(A 10 Y dyne? - 2
C 3 (B) 10
{QEF) o Dy 100
TSR TR S gy
(A) 104 e
(B) 10%
3
© 10 (D) 100

139. Which . f k : .
(A) C (\IT]t‘ldt‘ﬂf lrampnnutmn of heat 1s L‘sscntin!]y not rcquircd the medium ?
(©) ROI'lldu.tlmn (B)  Convection
. f‘d*,““"‘[‘ _ . (DY All not required.
ﬁnmﬁmmwwm&z&xﬁmmmﬂmaﬁ WFTgHN TR A &2
(A) 9eF (B) daga
(C) fafemm (D) & ] ygvasa 6
140. The velocity of sound in air I8 taken as 332

m/s. If the pressure of gas 1s taken double,
- then what will be the velocity of sound in air ?

(A} 996 m/s (B) 664 nus

(C)y 166 m's (D) 332 ms

arg B A& F A 332 e wfd @vs & afk ag & < & g w0 E a a afs @ an
g?m] .

(A) 996 Hrex ufd F=oe (B) 664 HIZT 9fa dHvg

(C) 166 Htz7 ula s (D) 332 drer ufs wwvs

141. The escape velocity from the surface of the carth s
(A) 11.2km's (B) 11.2nvs
(C) 11.2cmes (D) 11.2mms
M3 : ; T
edl & T H YA &7 F A '
(A) 112 feendier afa #&vs  (B) 112 " viq w03
(C)  11.2 F=2miex ofa #wvg (D) 11.2 faeidier qfa dwvs

142. Natural fibers are ™

W
(A) Cotton (B) ool

1L (D) All
© Sk
gl WE (B) 3A
(A) P (D) @it
() faeh

o of CaO and S10, in Portland cement is
3. Compusili(m pcrcc:]::?,:;: Ca o ;5_‘;0% 05 !
(A) 40-45% alnti |7.7:’-I% (D) 3-10% and 80-90%
qeavg @mHE H C % (B) 35.uu%sﬂ?4ﬂ-4f,ﬁ
(A) 40-45% ﬁ :7:2;1% (D) 3-10% 3 80-90%
(g) 60-68% - |
https://www.pygonline.com
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144,
(

146.

(77
Examples of Web Browser are
(i) Mouzilla _ (it) Opera
(ii1) Netscape Navigator (iv) Netscape
(v) Internet Explorer (vi) Mozilla Firefox
(A) (i), (v) & (vi) (B) (i), (iii) & (iv)
g) {1). g;) & (1) (D) All of the above
AT o T €
(i) e - (i) R
(iii) TPy PR (iv) Fe@hy
(v) FEEE TR (vi) wifaen wars -
(A) (i), (v) 3 (vi) (B) (i), (iii) I (iv)
(C) (i), (ii) 3 i) (D) 3w il
. Asteroids are found in between the orbits of
(A) Saturn and Jupiter (B) Mars and Jupiter
(C) Earth and Mars (D) Saturn and Uranus
spwE fra at s S oo €
(A) wf a gewfa we _(B) Wt Ud Rl 0E
(C) et gal STl 0E (D) i1 od 78 wE
SONAR is used for

(A) Mecasuring distance, direction and velocity of objects in water.
{B) Mecasuring distance, direction and velocity of objects in air.

(C) Measuring distance and direction of objects in water.
(D) Measunng direction and _‘.-c[u;i% of abjects in air.
f & forg BARe Tt & 9 @ aEt R

(A) @A ¥ feaa faost @t g8, fewn od =@ AmE & A

(B arg d fega favet A g0, fem o e A & fore

147.

() w1 A feea fovgi @t gt o@ fean Ao & e
(D) ar i et faugt & feen @@ e A9 & ferw

Which of the statements about the reaction given below are incorrect 7

2PbO,,, + €y — 2PbS, + €Oy,

(1) lcad 1s getting reduced.

(ii) Carbon dioxide is getting oxidized.

(ii1) Carbon is getting oxidized.

(iv) Lead oxide is getting reduced.
(B) (1)and ()

(A) (1)and (1)
(C) (). (i) and (iii) (D) All
F & 7 wfufwar & aod § FA T HEA AT 8 2

2Pb0m +Cy— 2PbS * Coluﬂ

() g swEraa g
(i) @ SRS IR @ W
(iii) @A Iwarad B @ |

(iv) o AtENRS oAt @ @ e |
(A) (i) @ (ii)
(C)" (i), (ii) @ (iii)

(B) (i)W (iii)
(D)

" https://www.pygonline.com
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149,

s I = 802.. Z= SO
_ 3
(E) M= Fexs0,),, X = Fe,05, Y =50, 2= 1,0
(€)M =Feso, x - Fe,0,,Y=50,.2= 50,

D) M= Fe)(S0,),. X = Fe0, y = 80,.Z=H,0

T SffE % geg fefan . 1
2FeSO, - TH,0 T,y FH vy
(A) M= FeSO,. X = Fe0. Y = 50,, Z - 50,

(B) M= Fey(SO,), X = Fe,0,, Y = 80,.Z=H,0

(€)M =FeSO, X = Fe,0,, Y =80,.7 = S0,
(D) M = Fey(8O,),. X = FeO, Y = 80, Z = H,0

Latent heat of vaporization is g.,/

(A)  the heat energy required to change 10 g of liquid to gas at atmospheric pressure at its :
boiling point. ';

(B)  the heat energy required to change 1 L of liquid to gas at atmospheric pressure at its
boiling point. '

(C)  the heat energy required to change | ml of liquid to gas at atmospheric pressure al ;‘
its boiling point.

(D) the heat encrgy required to change 1 kg of a liquid to gas at atmospheric pressure
its boiling point.

GTEHFTT T S8

(A) T F a% WE A 10 U Za % ageved Te st e ¥ aauaiE W e d
yfrad= %4 & fau snavas @d € | |

(B) @9 & aF 7@ S | Wied 79 F agEveda e o 5 % saweie w e s i
uftad= e % [ REvaE gl & | .

€y maﬁwwﬁlﬁﬁmaﬁmwaﬁrm%mwﬂﬁ"mﬁ
fad= @ & fAu snavaE @ ¥ )

(D) @ @ & HE ﬁm:ﬂaﬂﬂmﬁumm\tmﬁrmwmmi

afgada % feae smavas @il & | |
How many number of particles will be in 8 g O, molecules ?
(A) 15.1x10% (B) 1.51 %1023
I3
c) 151x10° ~ (D) Lisxio
g%ﬂﬁﬁﬁ?ﬂﬁﬁﬁmﬁ*ﬂ
(A) 15.1 x 103 _(B) 151x10%
() 15.1 x 10" (D) 1.15x%10'"?

https://www.pyqoniine.com
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(79)
SECTION _ IV(b) / mom_ IV(b) '
SOCIAL, STUDIES fmrﬁmmnq

- The ¢
must answer al{ the qQuestions. andidates whq have selecteq this subject

WIS d 5 60 gy & |i‘vmaﬁwﬁa‘fﬂmfﬂwwmﬁw% %

21 A candidate to gey clected for -
the off;
(A) 25 years ol ¢ 0tlice of Rajya Sabha must be

o (B) 35 years old
) 30 years old (DY 21 years old
REREL O E T T oy % T eyt 53

®T 30 F e
(C) 30 91 (Dy 2 A=

th . .
92. 44 Amcn_drnent to the Constitution of India was made during the period of which one of
the f'ol]nwmg Prime Ministers »

(A) Indira Gandhi (B} Chandra Shekhar
(C) (‘{mudhary Charan Singh (D) Morarji Desai

Hﬁm?m4aa?nbﬁuqﬁﬁhf@aﬁnfﬁg%wmﬁﬁ%mﬁ%mm?
(A) 's'ﬁmnnﬁ (B) w=vmar
(C)  ahed Teofae (D) TR 2

93. Who was that Supreme Court Judge against whom the process of impeachment was
started but he could not he impeached ?
(A) K.G. Balkrishna {B) V.Ramaswami
(C) Somitra Sen . (D) Swatantra Kumar

(A) it (B) @ wemam
(C) " g (D) @ = Fow
“Indi itution deals with
94. Twelfth Schedule of Indian Constitution ‘ -
(A) Panchayati Raj System (B) !\a_garpailkas _
(C) Languages of Union (D) Union-State Relations
YR dfeur )t ared srget awafad ¥ e
(A) v Tereae @ (B) Frfer R
(C) = &t urwiaf & (D) FH-T gl

: N ,
95.  Who was that Vice President who died during his tenure ?

_ (B) V.V.Gin
(A) Dr. Radhakrishnan (D) Krishnakant

(C) B.D.Jau 311 AU FIAHA & {0 §IH 2
?:ﬁ?mﬁ,mﬁw ®) i frd
© @ (D) 3 PT.0.
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96. The percentage of totga] land area of the earth is o
(A) 320 (B) 303
(C) 2990 (D) 284
qﬁmwmﬁwﬁammﬁ%
(A) 32,0 (B) 303
(©) 290 (D) 28.4

97.  Thelowest layer of atmosphere is
(A) Stratosphere (B)  Troposphere i
(C)  lonosphere (D) Ozonosphere |
AU B TR Fraedt wa & |
(A) AN wge (B) sihmyogs
(C) ImTves (D) 3isimves |

98. A common term used for all the exogenic geomorphic processes is

e e ma e s =

(A) Diastrophism (B) Weathering

(C) Carbonation (D) Denudation

Tt s syamfires sfrarsil 3 g o amr reTeh g @ o 3 ap b l
(A) vTo-fawgoy (B) Jmm

(C) HERYH (D) FrBr=

99. The cyclic flow of chemical elements between organism and environment in biosphere is

known as
(A) Gaseous cycle (B) Biogeochemical cycle
(C) Water cycle (D) Geomorphic cycle
J9 Tuge § Sa qU TgERYT & T TERHE a6l & 9hig FaT $ a1 o g
(A) T = (B) & et aF
(C) & o%F (D) WIHIE T
100. Which one of the following is not a metamorphic rock ?

(A) Limestone (B) Marble

(C) Quartzite (D) Slate

Prefofas o @ @ @ g w76 e ?

(A) T TR (B) WHGR

(C) e (D) e

https://www.pyqonline.com
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. (81)
101. On which objects the inscripti Y
. ptions of
chiefly found ? of Harappan Culture (Indus Valley Civilization) are
(A) Rocks (B) Seals

(C) Pillars (D) Copper Plates

T Sl (Fay wrd wam) & At qee: s R iR §o
(A) Toremsit (B) TR ®

(C) wm™iw (D) Wl |

102. The central place of Aryan Culture during Later Vedic Age was
(A) Sapt-Saindhav Pradesh (B) Doab of Ganga-Yamuna

(C) Magadh (D) Deccan

I ARk FI § A T B FAT A U

(A) @ F¥E R (B) TI-GHAT AR
(C) WM (D) T&A

103. The author of the famous book entitled *Bharat ke Prachin Nagaron ka Patan’ (Urban
Decay in India : 300 AD - 1000 AD) is

(A) Radha Kumud Mukerjec  (B) Romila Thapar

(C) D.D. Koshambi (D) Ram Sharan Sharma

e & AT ARG T (Urban Decay in India : 300 AD — 1000 AD) T ¥fF& T®
& ohE® £

(A) TS gE (B) e AT

() @2 FmE (D) TR Y

104. When "Hindu Married Women's Right to Separate Residence and Maintenance Act’ was

enacted ?

(A) 1955 (B) 196

©) 1046 (D) 1977

P mﬁmmm@m.ﬁmmﬁwﬁmﬁﬁw?

(A) 1955 (B) 1956

(C) 1946 @) 1971

) P.T.O.
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108.

106.

107.

108.

109.

(82)

The year of 1856 was sign; i i i i
(A) Hindu Widow Refa:fi:agzt;i:h \:alsl,l:?s?eg.f e oy bestuse of
(B) An Act against female infanticide was passed
:g; An Act against Sati System was passed. |

An Act against Witch-huntin was .
YIRE O & g o (356 maﬂgﬂmq]:‘iasfsr:dwﬂ’f?ﬂ?
(A) g Fovan el srifram wife o |
(B) %= au & faug sfufiram ot & |
(C) et v & foeg stfufrm v & |
(D) 3 vt & fergy arfiafiram e gom |

Which period in Indian History has been attributed as *Classic Age’?
(A) The age of Guptas (B) The age of Kushans

(C) The age of Maurayans (D) The age of Mughals

Wty gfeer o st g Ty et & ferg g g 2

(A) T4 T (B) I et
Under which dynasty the great sculpture of Bahubali situated at Shravanbelgola was built ?
(A) Hoyasalas (B) Gangs

(C) Rashtrakutas (D) Chalukyas

sEorderien fega ageen @ T wiam & Fator few e o gom 2

(A) EITEd (B) ™M

(C) T&F (D) <[

The author of ‘Indica’ 1s

(A) Kautilya (B) Megasthenes

(C) Phny (D) Vishnugupta

frear & dGH €

(A) FIfeed (B) g

() el (D) o

Who built the *Vishnu Temple' of Angkorvat situated in Kambuj ?
(B) JaivermalV

A) Suryaverma |
() Sury (D) Yashoverma il

(C) Suryaverma Il

et e sfrrepcane o frw e et e 2
(A) Wl (B) sraast [V
() il (D) I U

https://www.pyqonline.com
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110.

11

112.

113.

114.

115.

(83)

In which major Rock Edi o .
countries ? : Edict of the emperor Ashoka, we find the description of neighbour

{g) Firgs.}tl (B) Fifth

(C) Eighth (D) Thirteenth
AW AT ¥ FF geg oo | wgied v @ gt & 0
(A) waH (B) wuq

(C) o=y (D) et

Which of the ﬁ_)lluwing Novel of Rabindranath Tagore has the main character Nikhil, who
believes more in ‘*humanity” than patriotism ?

(A) Shesher Kabita (B) Gora

(C) Yogayog (D) Ghare Baire
Tt IR & forg SO < W i et 3, o e @ aga w3 fevard @ & 2
(A) 9T e (B) T

(C) dmmam (D) WaR
Hindustan Ghadar Party was founded in the year

(A) 1916 (B) 1925

(C) 1913 (D) 1922

g Tex widt = v fom o @

(A) 1916 (B) 1925

(C) 1913 (DY 1922

Diraham is

(A} Comnof Gold (B)y Coin of Copper
(C) Coin of Silver (D) Conof Alloy
fowm &

(A) a3 & faan (B) did &t fae

(C) it & faen (D) Tafae wig & faat
The last expedition of Shershah Sun was against the ruler of
(A) Kalinjar (B) Marwar

(C) Ranthambaore (D) Malwa
YremE A w1 st v fem e & fawg =

(A) wifers (B) HREE

(C) Tormiit (D) W

Under which Act the Sati system was banned in Bengal with the efforts of Raja Ram

Mohan Roy ?

(A) Regulation XVII AD 1829 (B) Regulation XX AD 1831

(C) Regulation XVII AD 1856 (D) Regulation XIX AD 1829
mnﬂﬁm%mﬂmﬁmaﬂ?ﬂ sfufray & =i Pty it faar w2
(A) Frama XVIIAD 1829 (B) frama XX AD 1831

(C) Frawa XVIIILAD 1856 (D) frawa XIX AD 1829

P.T.O.
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116. In which year the Amendment in Indian Constitution regarding Preamble was made ?

(A) 1975 (B) 1976
WA Wi @ s § wni feg o F g2
(A) 1975 (B) 1976
(C) 1978 (D) 1992
117. The Constitution Amendment which is related to Right to Education is
(A)  42™ Amendment (B) $2™ Amendment
(C) 61" Amendment (D) 86™ Amendment
% FAufTe Gy A forn & sfsR @ gt ¢
(A) 42ai Gyt (B) szdi @aiua -
(C) 61a1 | (D) s6al oA

118. On the basis of which Committee's recommendations the fundamenta! duties have been
incorporated in Indian Constitution ?
(A) Sardar Sawaran Singh Committee
(B) Ashok Mechta Committee
(C) Sadiq Al Committee
(D) Hegde Commillee

trm wf @ FaEl ) I e aEr e | e wder g T ?
(A) wReR ot fag wifa

(B) ik dean afufa

(C) wifee el wfafa

(D) &g winfa
119. Government of India appointed Kaka Kalelkar the Chairman of the Commission for other
Backward class. The year of appointment was

(A) 1951 (B) 1953
(Cy 1955 (D) 1957
mmﬁmmﬂaﬂaﬂmﬁwaﬂmwmh{mﬁmﬁqﬁawﬂm
(A) 1951 (B) 1953
(C) 1933 (D) 1957

120. In the Constitution of India secularism means
(A) State has its own religion.
(8) State has no link with religion.

(C) State has no religion of its own.
(D) State recognizes all the religions but has no its own religion.

ar & wiaurA 3§ e & A @

(A) T & AU E |

(B) T H Ul R I TAU T L |

(C) TG & H B ud A |

(D) 7w asit wmt @ A e & W 39 FEn Bt ol WA

https://www.pygonline.com . ‘
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121.

122.

124.

125.

126.

(85)
To which age isti )
N Gurjagr.[::g;i ;‘rrme artistic spien{cg))ur téthbli:ancri and Rajoregarh belong ?
(C) Guhil-Sisodiya (D) Ra?huortn
ST A T F el v e w0
(A) TER-HfAER B) dm
(C) Tiewr-fawifem (D) W
Social Studies is supposed to study

(A) Economical relations of man.(B) Politi i
nomical s . ical relations of man.
SC) Soctal relations of man. (D) Social geographical relations of man.
AT 3eg 37ag &l § '
(A) S s afas gEis (B) aafew & gorifaes sl &
(C) oAb & e wai & (D) ot & anataewinifers gl &

The cnncgpl of Social Studies “The Social Studies are those studics that provide
undcrstandmg of man's way of hving, of the basic needs of a man and the activities in
which he engages to meet his need and. of the institutional he has developed™ is given by
(A) Wesley (B) John Michaelis

(C) M.P. Mottat (D) Encyclopaedia of Education Rescarch

A mﬂq%waﬂ AT FVIEA F A & S A ST & GA-HER & o,
[ FETEHIA, frra, fol WFE o anawwdsl # % fee dem T ¥ au

Tena, S 35 far e & &1 S 9EE S e " fopRa R A T § 7

(A) &= (B) A Hgehior

(C) uma e (D) CHEREETE 3 v fad

The fact which is studied under the area of Social Studies ?

(A) Study of Social relations (B) Study of Human relations

(C) Education of Citizenship (D) All of the above

A A & 8 & arenia e A | few T g fera e €7

(A) WHST G AT (B) W T F AT

(C) At & fo (D) IgE B

The teacher of Social Studies is expected to keep in mind the following fact is natural :

(A) Clear vision in the relation of specific facts and thing.

(B) Concept of general fact or qualitics.
(C) Establishment of fact. rule, definition. knowledge and method.

(D) All of the above. |
Wmﬂ%wﬁmﬁwﬁﬂﬂﬁmhﬂaﬂﬁﬁ adeT 7@ e R ?

(A) ﬁh@mﬁmm%mﬁwfaﬂn

(B) qrTy G e T SR
(C) aw.ﬁﬂﬂ.qﬁﬂm.fawa‘mhﬁ:ﬁm

(D)
o the statement-guidance while teaching

How much portion of time should be given t
1 2

social studies during a period
rC B) 60 percent (C) 50 percent (D) 20 percent _
%ag)?amfwmm(m) l;ﬁqarﬁw oAl G T e W W & e R
R w96 ?
(¢) sowaw@ (D) 20 v

(A) 40 e (B) 60 W
P.T.O.
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127. Evaluation isa Process of 0 ST2
(A) Detennming the extent of the achievement of objectives
(B) Ascertaining the quality, value of outcomes
(€) Cﬁmpaﬁﬂg the outcomes of instruction,
(D) All of the above,
TS Y whiwar &
() Stwdl =t swetfar 3 e a7 e
(B)  fomt % vorerey 4 T4t 1 Frvay we
(€) IR F ooy 53 o FE
(D) 3®fwr wit
128. The use of teaching learning material in Social Science do
(A) Makes the lesson lengthy.
(B) Students get bored.
(C) Both the above statements are wrong,
(D) Both the above statements (A) & (B) are trye.
s st famor 3 fovor s w5 W -
(A) 913t v star ¥ |
(B) BEIH oW |
(C) I 3 ot I § |
(D) IF 3 9 (A) v (B) T ¥
129. Which Scientist gave the behavioural form of project methods in education system first of
all ?
(A) Duwey (B) Dr. WH. Kilpatrick
(C) Stevenson (D) None of the above
wiotae fafl ot e fow A 3 o et 31 sragfees g gy
@) T (B) 3. ==, ey
©) R (D) 9w # } i

https://www.pyqgonline.com
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130.

131.

132,

(87
Match the following :

1.  B.S.Bloom

8. Evaluation dimension
.3. ijdcrt?crt b. Memory level
..4. H onson ¢ Understanding level
: unt d. Reflective level

] 2 3 4
(A) d ¢ b a
(B) b d a C
(€C) a b ¢ d
(D) d C a b
= &1 w@) faems 9 -

L A EE . e s

2 [Lrs h ni'fa T

LI EE ¢ AR

4 RUL d h?‘i Lot
] 2 3 4

(A) d C b a

(B) b d a <

(() C d

(Dy d 1 b

The three stages of evaluation dimension are

I.  Determination of Educational objectives

2. Providing leaming experiences

3. Evaluation of Behavioural changes

The above stages arc given by

(A) B.S. Bloom (B) Herben
(C) Skinner (D) Thomdike
T AW & e d wE A ¥

2. fue F FHE e A

3. oEEl uiEda & qeisd S
77 e i A fet A @ fd g f m &
(A) @ T (B) #e
() et (D) GHIEE
Which is not an abiotic resource ?
(A) Soil (B) Rock
(C) Plants (D) Minerals
B T o GaNA 7§ ?
(A) T’ (B) 9EH
(C) (D) @i

https://www.pyqonline.com
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133.

134,

136.

137.

(88)
Which is not a correct statement ?
(A)  Parent rock and clim
(B.) Humus is found in the deepest part of the soil
(<) f\flmu.dc ;mq slope determine accumulation ul: soil.
;l;\):{ H:;;:i}; t:l%x gﬁi minerals and organic matter make the soil fertile.
(A) 721 A0 & meg s st vt 1 wawy 3T AafaH HF § |
(B) #5921 & ®aw wwad are v § gt At & )
(C)  I=am@w gl 3 gt gz & wem &1 fauifea et £
(D) @it ud SHfaw vt & @ s gar & 3990 a3 &

atie factors determine the soil formation.

Amaong following which is the leading copper producing country in the world ?

(A)  South Africa (B} Chile
(CY  Austraha (D) Ghana
fFrfataa & @ fava &1 %3 @ 29 sl dmn 3engE 20
(A) =haul st (B) fad
(C) R (D) W
. Which is not a conventional source of energy ?
(A)  Geothermal energy (B)  Petroleum
() Hydel Power _ Dy Nauwral Gas
&l {1 GEERTd 30 R Hid J/1 &7
(A) ¥ATTE 3 (B) weiferam
(C) wefagd (D) wHlas iy
Which is not a correct match 7 hitps://www.pyqgonline.com
Shifting Agriculture Country/Area
(A) Milpa Mexico
(B) Jhuming North-East India
(C) Roca Brazl
(D) Ladang Sn Lanka
#19 g1 guferd 78§ )
AT Hi TIER
(A) faem Afarel
(B) fam Ea IR G!
(€) T -
(D) Az : Hiefehl

1 3 » sovirvetile iaq ¥
Which is the highest peak of the Peninsular India

(A) Doda-Beta (B) A:nui-Mudi
(C) Mahendra Giri (D) Kodaikanal
e e 6 wared frE FR A

(A) & (B) IR
©) (D) HEHHAWA

https://www.pyqonline.com
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138.

140.

141.

142.

143.

(89)

In which part of India, arrival of Monsoon is earliest

(A) Kerala (B) Andman and Nicobar Islands
(C) West Bengal (D) Tamil Nadu
m%mﬁmﬁmmwmm% ’
(A) I (B) 3rwgn 3 FER &7 T
(C) ufeeH S (D) afFerTg
. In which region of India tropical rain forest is found ”
(A) Malwa Plateau (B) Karmataka
(C) Eastern Ghats (D) North-East India
NRA % &8 Ry ®§ T Fieadiy awas e ¢ 7
(A) RIGEUC ARG (B) #ARE
) e (D) Ie-gal Wd

Which one of the following is not a center of iron and steel industry in India 7

(A) Bangalore (B) Salem

(C) Dolvi (D)  Durgapur

A o fyfafaa #§ | #1511 U oR-300d 3A0 F g T 8

(A) TR (B) ®em

(C) el (D) Fg

In India. States having highest and lowest density of population in 2011 were
(A) Bihar and Tripura (B}  West Bengal and Arunachal Pradesh
(C) Kerala and Sikkim (D) Uttar Pradesh and Mizoram

2011 3 sfeRdn 3 A SEEEA GG a6l R & 719 8

(A) faew it B (B)  Tfeeml dme 3R IETEA waw

(C) e A faferm (D) FawRw 3w o

Bhorat Pathar is located between

(A) Raghunathgarh and Nahargrh (B) ~ Achalgarh and Delwara
(C) Kumbhalgarh and Gogunda (D) Jaigarh and Nahargarh
R 1 YRR frerd &

(A) TgAUTE AR AECE WA (B) GO A Iarg & v
(C) PR A M S ae (D) AT 3T TG & 9

Which of the following is not a traditional method of water conservation in Rajasthan ?

(A) Khadin (B) Tanka

(C) Toba (D) Nah
ﬁwﬁaﬁaﬂﬁﬁmhﬁmwﬁwmmwa%hﬁ: R
(A) @R | (B) 2@t
() & (D) e

https://www.pyqonline.com P.T.O.
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144. Which is not a correct match ?
Minerals Mining area
(A) Tungsten - Degana
(B) Lead & Zinc - Rajpura-Dariba
(C) Copper - Singhana
(D) Mica - Jamsar
@ e T
afw AR
(A) T . E
(B) e 3l e - g
(C) e - faarn
(D) 3w - AT
145. Which is not a centre of chemical industry in Rajasthan ?

{(A) Decedwana (B) Sawai Madhopur
(C) Kota (D) Alwar
TS J 1 B TG 30 & &% T8 £
(A) a1 (B) W amigw (C) @ (D) 3eaT

146. Which districts of Rajasthan was having more than 500 density of population in 2011 ?
(A) Jaipur - Alwar (B) Bharatpur - Dausa
(C) Jaipur - Bharatpur (D) Jaipur - Dausa
2011 5 T & 9 A Foredt # 500 9 aifuer T ve B
(A) S - ctar (B) waq - &
(C) AR - wag (D) T3y - 2

147. The Prajamandal of which princely State had observed ‘Krishna Day" in 1936 2
(A) Udaipur (B) Kota (C) Karauli (D} Jodhpur

o it & FUse 3 1936 § o g feaw gav
(A) &R (B) @ (©) # (D) g

148. In which district of Rajasthan a *War Museum’ was established in August, 2015 2
(A) Sikar (B) Jaisalmer (C) Jodhpur (D) Barmer
nmm%ﬁmhﬁﬁ*qa#am'aﬁmmmzmﬁﬁaﬁné?
(A) @ (B) e (C) WwE (D) e

149. Which Chauhan ruler was entitled as ‘Kavi Bandhav' 7

(A) Vigraharaj IV (B)  Prithviraj Chauhan []]
(C) Aranoraj _ (D)  Ajayra

Ha Ty F I0lYy fw Dem s # a of 0

(A) famerst o (B) e aher it
(C) i (D) g

150. To whom did Col. James Tod dedicated his travelogue “Travels in Western India’
(A)  Lord William Bentinck (B) Lord Minto

(C) William Hunter Blair (D) Yati Gyanchandra
(A) e fafergm e (B) wig fiyet
(C) faferam gy =y (D) dfq e

https://www.pygonline.com
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INSTRUCTIONS / a3y ST-2

(Read carefully and comply / = 7 v At aes w6

___IMPORTANT / wesamgut

1. InSecton il anguipe-11 a condidate has 4
Rl L s 1o attempt the gqustions o . . _ -

Online -"\DNT'.".!!ln!'._i‘nvr|||_ P quistions of the language which the candidate has selected as Language-1 i the
3 1 -.Sl.:il‘hrl'l:; T4[ ST R T R w4 s & WIS ST AT 2 L F R siara wrad g fem i
o + ¥ M SN " sy e heas toy - ) 1 [CE i M I
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